
WORKSHEET 
Word Problem 

Mathematics                                                                    1. 

 

1. In a shop , there are 65 red kites and 30 green 

kites. How many kites are there in all ? 
 

 

Solution..                                       T   O 

                   Number of red kites -           6   5  

                   Number of green kites -       3  0 

                    Total number of kites =       9  5 

 

              Ans.  There are 95 kites in all . 

 

2. In a party , there are 75 women and 80 men . 

How many people are there in all ? 
 

Solution.                                              H  T  O 

                  Number of women -       7   5 

                  Number of men -           8   0 

            ____________________________ 

                 Number of people =    1  5  5 

 

 

  Ans. There are 155 people in all . 
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